
0.6

0.8

1.0

0 2 4 6
Log2 (FBN1 TPM + 1)

Tu
m

or
_I

nf
la

m
m

at
io

n_
S

ig
na

tu
re

loge(S) = 15.73, p = 4.03e−06, ρSpearman = 0.24, CI95% [0.13, 0.33], npairs = 376A

0.98

1.00

1.02

1.04

1.06

0 2 4 6
Log2 (FBN1 TPM + 1)

C
el

lu
la

r_
re

sp
on

se
_t

o_
hy

po
xi

a

loge(S) = 15.99, p = 0.941, ρSpearman = 0.00, CI95% [−0.10, 0.11], npairs = 376B

0.7

0.8

0.9

1.0

1.1

0 2 4 6
Log2 (FBN1 TPM + 1)

Tu
m

or
_p

ro
lif

er
at

io
n_

si
gn

at
ur

e

loge(S) = 16.04, p = 0.343, ρSpearman = −0.05, CI95% [−0.15, 0.06], npairs = 376C

0.6

0.7

0.8

0.9

1.0

0 2 4 6
Log2 (FBN1 TPM + 1)

E
M

T
_m

ar
ke

rs

loge(S) = 14.61, p = 3.62e−69, ρSpearman = 0.75, CI95% [0.70, 0.79], npairs = 376D

0.2

0.4

0.6

0 2 4 6
Log2 (FBN1 TPM + 1)

E
C

M
−

re
la

tte
d_

ge
ne

s
loge(S) = 14.81, p = 8.72e−56, ρSpearman = 0.70, CI95% [0.64, 0.75], npairs = 376E

0.7

0.8

0.9

1.0

0 2 4 6
Log2 (FBN1 TPM + 1)

A
ng

io
ge

ne
si

s

loge(S) = 14.57, p = 1.02e−71, ρSpearman = 0.76, CI95% [0.71, 0.80], npairs = 376F

0.88

0.92

0.96

1.00

0 2 4 6
Log2 (FBN1 TPM + 1)

A
po

pt
os

is

loge(S) = 15.23, p = 2.48e−29, ρSpearman = 0.54, CI95% [0.46, 0.61], npairs = 376G

0.98

1.00

1.02

1.04

0 2 4 6
Log2 (FBN1 TPM + 1)

D
N

A
_r

ep
ai

r

loge(S) = 16.18, p = 6.04e−05, ρSpearman = −0.21, CI95% [−0.30, −0.10], npairs = 376H

0.90

0.95

1.00

1.05

0 2 4 6
Log2 (FBN1 TPM + 1)

G
2M

_c
he

ck
po

in
t

loge(S) = 15.98, p = 0.710, ρSpearman = 0.02, CI95% [−0.09, 0.12], npairs = 376I

0.6

0.7

0.8

0.9

0 2 4 6
Log2 (FBN1 TPM + 1)

In
fla

m
m

at
or

y_
re

sp
on

se

loge(S) = 15.38, p = 4.35e−21, ρSpearman = 0.46, CI95% [0.37, 0.54], npairs = 376J

0.875

0.900

0.925

0.950

0.975

0 2 4 6
Log2 (FBN1 TPM + 1)

P
I3

K
_A

K
T

_m
T

O
R

_p
at

hw
ay

loge(S) = 15.57, p = 2.61e−12, ρSpearman = 0.35, CI95% [0.26, 0.44], npairs = 376K

0.88

0.92

0.96

1.00

0 2 4 6
Log2 (FBN1 TPM + 1)

P
53

_p
at

hw
ay

loge(S) = 15.27, p = 7.82e−27, ρSpearman = 0.51, CI95% [0.43, 0.59], npairs = 376L

1.09

1.11

1.13

0 2 4 6
Log2 (FBN1 TPM + 1)

M
Y

C
_t

ar
ge

ts

loge(S) = 16.22, p = 1.05e−06, ρSpearman = −0.25, CI95% [−0.34, −0.15], npairs = 376M

0.95

1.00

1.05

1.10

0 2 4 6
Log2 (FBN1 TPM + 1)

T
G

F
B

loge(S) = 14.60, p = 1.59e−69, ρSpearman = 0.75, CI95% [0.70, 0.79], npairs = 376N

0.7

0.8

0.9

1.0

0 2 4 6
Log2 (FBN1 TPM + 1)

IL
−

10
_A

nt
i−

in
fla

m
m

at
or

y_
S

ig
na

lin
g_

P
at

hw
ay

loge(S) = 15.61, p = 2.36e−10, ρSpearman = 0.32, CI95% [0.22, 0.41], npairs = 376O

0.975

1.000

1.025

1.050

0 2 4 6
Log2 (FBN1 TPM + 1)

G
en

es
_u

p−
re

gu
la

te
d_

by
_r

ea
ct

iv
e_

ox
ig

en
_s

pe
ci

es
_(

R
O

S
)

loge(S) = 15.91, p = 0.104, ρSpearman = 0.08, CI95% [−0.02, 0.19], npairs = 376P

0.90

0.95

1.00

1.05

0 2 4 6
Log2 (FBN1 TPM + 1)

D
N

A
_r

ep
lic

at
io

n

loge(S) = 16.16, p = 0.001, ρSpearman = −0.17, CI95% [−0.27, −0.07], npairs = 376Q

0.7

0.8

0.9

0 2 4 6
Log2 (FBN1 TPM + 1)

C
ol

la
ge

n_
fo

rm
at

io
n

loge(S) = 14.16, p = 2.12e−101, ρSpearman = 0.84, CI95% [0.81, 0.87], npairs = 376R

0.6

0.7

0.8

0.9

0 2 4 6
Log2 (FBN1 TPM + 1)

D
eg

ra
da

tio
n_

of
_E

C
M

loge(S) = 14.23, p = 1.35e−96, ρSpearman = 0.83, CI95% [0.79, 0.86], npairs = 376S

0.78

0.81

0.84

0.87

0 2 4 6
Log2 (FBN1 TPM + 1)

F
er

ro
pt

os
is

loge(S) = 15.36, p = 4.32e−22, ρSpearman = 0.47, CI95% [0.39, 0.55], npairs = 376T


